

208-7  
BLUE-MAR

Filters: Start Date - 2/18/2000; End Date - 2/18/2026; Business unit applies to: - Equipment Business Unit; Equipment - 300G-LC JD EXCAVATOR [5675]

<b>Work Order:</b>	18748	<b>Status:</b>	Transferred
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>		<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Randy Wearmouth	<b>Start Date:</b>	
<b>Kms:</b>	N/A	<b>Stop Date:</b>	
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
FILTER [FYA00001490SH]	1.00	Each	\$48.29	\$48.29
FILTER CAB AIR {4500686SH} [CAF55754]	1.00	Each	\$64.29	\$64.29
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00	Each	\$15.31	\$15.31
PROTECTOR- SIDE [1662877]	1.00	Each	\$148.11	\$148.11
PROTECTOR- SIDE [1662877]	3.00	Each	\$148.11	\$444.33
TOOTH TWIN TIGER {GETJ350TT, FC350WTS} [1U3352WTL]	2.00	Each	\$21.87	\$43.73
VENDOR BUILT HOSE [HOSE]	1.00	Each	\$138.60	\$138.60
			<b>Total Parts</b>	\$902.66
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$902.66

Item ID	Description	Completed By	Reported Hours
33058	5675 - DIRECT BILL	Randy Wearmouth	0.00

<b>Work Order:</b>	18814	<b>Status:</b>	Transferred
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Carla Merklin	<b>Start Date:</b>	2/24/2021
<b>Kms:</b>	N/A	<b>Stop Date:</b>	2/26/2021
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	1.50	RT Shop Weld Field	\$54.00	\$81.00
TEVIN FERRIS	8.00	RT Shop Mech Field	\$54.00	\$432.00
TREVOR IRONSIDE	2.50	RT Shop Weld Field	\$54.00	\$135.00
WESLEY BOLTON	2.00	RT Shop Weld Field	\$54.00	\$108.00
			<b>Total Labor</b>	\$756.00
CONVERTOR 24/12 VDC, 10A [ICT2412-10A]	1.00	Each	\$145.00	\$145.00
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00	Each	\$15.83	\$15.83
PROTECTOR- SIDE [1662877]	1.00	Each	\$148.11	\$148.11
			<b>Total Parts</b>	\$308.94
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$1,064.94

Item ID	Description	Completed By	Reported Hours
33226	5675 - rig up	Carla Merklin	14.00

**Work Order:** 20310  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 5/1/2021  
**Stop Date:** 5/3/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	1.00	RT Shop Mech Field	\$54.00	\$54.00
			<b>Total Labor</b>	<b>\$54.00</b>
FUEL CAP - FILLER [AT321249]	1.00	Each	\$101.54	\$101.54
PIN (GOES WITH 1U3352WTL) [8E6358]	5.00	Each	\$5.89	\$29.45
RETAINER [8E6359]	5.00	Each	\$3.42	\$17.10
TOOTH [FC350F]	5.00	Each	\$64.29	\$321.45
			<b>Total Parts</b>	<b>\$469.54</b>
			<b>Total Equip</b>	<b>\$0.00</b>
				<b>Total Cost</b> <b>\$523.54</b>

Item ID	Description	Completed By	Reported Hours
36585	5675 - replace bucket teeth	Carla Merklin	1.00

**Work Order:** 22920  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:**  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	<b>\$0.00</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
				<b>Total Cost</b> <b>\$0.00</b>

Item ID	Description	Completed By	Reported Hours
39457	0500 Hour Service	Carla Merklin	0.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Change final drive oils.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 22986  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Trace Pidherney  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 8/11/2021  
**Stop Date:** 8/31/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00	RT Shop Lube	\$38.00	\$76.00
			<b>Total Labor</b>	<b>\$76.00</b>
FILTER AIR {P617643, AT330978} [AF26124]	1.00	Each	\$53.78	\$53.78
FILTER AIR {P617644, AT330980} [AF26125]	1.00	Each	\$31.29	\$31.29
OIL FILTER [RE539279]	1.00	Each	\$26.17	\$26.17
			<b>Total Parts</b>	<b>\$111.24</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$187.24</b>

Item ID	Description	Completed By	Reported Hours
41877	0250 Hour Service	Anthony Rodriguez	2.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 24343  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 9/23/2021  
**Stop Date:** 9/24/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	6.00	RT Shop Weld Field	\$54.00	\$324.00
			<b>Total Labor</b>	<b>\$324.00</b>
FUTURA F[Custom]	1.00	Each	(\$75.21)	(\$75.21)
PIN (GOES WITH 1U3352WTL) [8E6358]	1.00	Each	\$6.27	\$6.27
PIN [Custom]	1.00	Each	(\$6.27)	(\$6.27)
RETAINER [8E6359]	1.00	Each	\$3.42	\$3.42
RETAINER[Custom]	1.00	Each	(\$3.42)	(\$3.42)
TOOTH [FC350F]	1.00	Each	\$75.21	\$75.21
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$324.00</b>

Item ID	Description	Completed By	Reported Hours
44418	5675 - SET UP FOR HOE PAC	Carla Merklin	6.00

**Work Order:** 25288  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Randy Wearmouth  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 10/29/2021  
**Stop Date:** 11/6/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	5.00 RT	Shop Lube	\$38.00	\$190.00
			<b>Total Labor</b>	<b>\$190.00</b>
CAB AIR FILTER {4S00686SH} [CAF55754]	1.00	Each	\$46.53	\$46.53
FILTER - ELEMENT-SPIN ON {4630525} [CHF35516]	1.00	Each	\$22.15	\$22.15
FILTER [FYA00001490SH]	1.00	Each	\$38.41	\$38.41
FILTER [FYA00033065]	1.00	Each	\$113.32	\$113.32
FILTER [RE556406]	1.00	Each	\$102.87	\$102.87
FILTER AIR {P617643, AT330978} [AF26124]	1.00	Each	\$53.78	\$53.78
FILTER AIR {P617644, AT330980} [AF26125]	1.00	Each	\$31.29	\$31.29
FILTER ELEMENT {AT365870} [CFS20127]	1.00	Each	\$50.01	\$50.01
OIL FILTER [RE539279]	1.00	Each	\$28.52	\$28.52
			<b>Total Parts</b>	<b>\$486.87</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$676.87</b>

Item ID	Description	Completed By	Reported Hours
46438	1000 Hour Service	Carla Merklin	5.00

- \* Change all filters.
- \* Change engine oil.
- \* Change swing drive oil.
- \* Change final drive oils.
- \* Change pump drive / damper case oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 25467  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 11/4/2021  
**Stop Date:** 11/21/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	5.50 RT	Shop Weld Field	\$54.00	\$297.00
DAVE HUNT	0.50 RT	Shop Mech Field	\$54.00	\$27.00
HERMANN KUKOWSKI	10.50 RT	Shop Mech Field	\$54.00	\$567.00
JASON HOLLINGSWORTH	3.50 RT	Shop Mech Field	\$54.00	\$189.00
			<b>Total Labor</b>	<b>\$1,080.00</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,080.00</b>

Item ID	Description	Completed By	Reported Hours
46817	5675 - rig up new wrist bucket and install	Carla Merklin	20.00

**Work Order:** 26328  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 12/7/2021  
**Stop Date:** 12/15/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	6.50 RT	Shop Mech Field	\$54.00	\$351.00
			<b>Total Labor</b>	<b>\$351.00</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$351.00</b>

Item ID	Description	Completed By	Reported Hours
48559	5675 - pro heat timer	Carla Merklin	6.50

**Work Order:** 26627  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 12/20/2021  
**Stop Date:** 12/20/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00	RT Shop Lube	\$38.00	\$76.00
			<b>Total Labor</b>	<b>\$76.00</b>
FILTER AIR {P617643, AT330978} [AF26124]	1.00	Each	\$53.78	\$53.78
FILTER AIR {P617644, AT330980} [AF26125]	1.00	Each	\$31.29	\$31.29
OIL FILTER [RE539279]	1.00	Each	\$28.82	\$28.82
			<b>Total Parts</b>	<b>\$113.89</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$189.89</b>

Item ID	Description	Completed By	Reported Hours
48859	0250 Hour Service	Carla Merklin	2.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 26656  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 12/20/2021  
**Stop Date:** 12/20/2021

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	3.25	RT Shop Mech Rky	\$50.00	\$162.50
			<b>Total Labor</b>	<b>\$162.50</b>
CUSHION [AT417630]	1.00	Each	\$365.92	\$365.92
PIN (GOES WITH 1U3352WTL) [8E6358]	5.00	Each	\$10.21	\$51.05
RESTOCKING FEE[Custom]	1.00	Each	\$12.33	\$12.33
RETAINER [8E6359]	5.00	Each	\$4.61	\$23.05
TOOTH TI [FC350TL]	2.00	Each	\$73.35	\$146.70
TWIN TIP [FC350WTS]	5.00	Each	\$82.24	\$411.20
TWIN TIP[Custom]	1.00	Each	(\$78.13)	(\$78.13)
			<b>Total Parts</b>	<b>\$932.12</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,094.62</b>

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

49160

5675 - CHECK OVER OES

Carla Merklin

3.25

**Work Order:** 28266  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 3/2/2022  
**Stop Date:** 3/4/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	10.50 RT	Shop Mech Field	\$54.00	\$567.00
			<b>Total Labor</b>	\$567.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$567.00

Item ID	Description	Completed By	Reported Hours
51152	0500 Hour Service	Carla Merklin	10.50

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Change final drive oils.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 29908  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 3/24/2022  
**Stop Date:** 3/24/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	8.00 RT	Shop Mech Field	\$54.00	\$432.00
			<b>Total Labor</b>	\$432.00
MIRROR {20Y-54-74280} [AT497535SH]	1.00 Each		\$95.29	\$95.29
O-RING - TURBO [8L2786]	2.00 Each		\$5.22	\$10.44
			<b>Total Parts</b>	\$105.73
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$537.73

Item ID	Description	Completed By	Reported Hours
54730	5675 - CHECK OVER	Carla Merklin	8.00

**Work Order:** 31945  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** John Marshall  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 6/9/2022  
**Stop Date:** 6/9/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00	RT Shop Lube	\$41.17	\$123.51
			<b>Total Labor</b>	<b>\$123.51</b>
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00	Each	\$14.14	\$14.14
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00	Each	\$67.43	\$67.43
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00	Each	\$39.96	\$39.96
FILTER LUBE [RE539279]	1.00	Each	\$38.38	\$38.38
			<b>Total Parts</b>	<b>\$159.91</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$283.42</b>

Item ID	Description	Completed By	Reported Hours
58387	0250 Hour Service	Anthony Rodriguez	3.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 35887  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** John Marshall  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 10/13/2022  
**Stop Date:** 10/13/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
LEVI LOOMIS	3.00 RT	Shop Mech Field	\$59.34	\$178.02
STEVEN MICKLEBORO	3.50 RT	Shop Lube	\$41.17	\$144.10
			<b>Total Labor</b>	<b>\$322.12</b>
FILTER - ELEMENT-SPIN ON {CHF35516} [4630525]	1.00 Each		\$35.89	\$35.89
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each		\$13.66	\$13.66
FILTER {HF7679} [FYA00033065]	1.00 Each		\$148.70	\$148.70
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each		\$66.28	\$66.28
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each		\$40.10	\$40.10
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each		\$53.20	\$53.20
FILTER KIT { XF RE556406} [BF7929KIT]	1.00 Each		\$170.59	\$170.59
FILTER LUBE [RE539279]	1.00 Each		\$30.15	\$30.15
OCV FILTER - CRANKCASE [RE553703]	1.00 Each		\$153.30	\$153.30
			<b>Total Parts</b>	<b>\$711.88</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,033.99</b>

Item ID	Description	Completed By	Reported Hours
65965	1000 Hour Service	Carla Merklin	6.50

- \* Change all filters.
- \* Change engine oil.
- \* Change swing drive oil.
- \* Change final drive oils.
- \* Change pump drive / damper case oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 36653  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 11/3/2022  
**Stop Date:** 11/8/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	2.00 RT	Shop Mech Field	\$59.34	\$118.68
TREVOR IRONSIDE	8.50 RT	Shop Weld Field	\$55.71	\$473.54
			<b>Total Labor</b>	\$592.22
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$592.22

Item ID	Description	Completed By	Reported Hours
67576	5675 - cork/espar not working	Brittinni Lockard	10.50

**Work Order:** 37680  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 12/1/2022  
**Stop Date:** 12/5/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
DAVE HUNT	4.00 RT	Shop Mech Field	\$59.34	\$237.36
			<b>Total Labor</b>	\$237.36
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$237.36

**Notes:** 2066

Item ID	Description	Completed By	Reported Hours
69606	5675 - check over	Carla Merklin	4.00

**Work Order:** 38386  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 1/6/2023  
**Stop Date:** 1/6/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			<b>Total Labor</b>	\$41.17
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$41.17

**Notes:** 2337

Item ID	Description	Completed By	Reported Hours
70502	0250 Hour Service	Anthony Rodriguez	1.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 39044  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 1/25/2023  
**Stop Date:** 1/25/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	4.00 RT	Shop Lube	\$41.17	\$164.68
			<b>Total Labor</b>	\$164.68
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each		\$14.36	\$14.36
FILTER AIR {P617643, AT330978, RS5429} [AF26124]	1.00 Each		\$68.80	\$68.80
FILTER AIR {P617644, AT330980, RS5430} [AF26125]	1.00 Each		\$40.10	\$40.10
FILTER ELEMENT {CFS20127} [AT365870]	1.00 Each		\$69.78	\$69.78
FILTER KIT { XF BF7929KIT} [RE556406]	1.00 Each		\$180.65	\$180.65
FILTER LUBE [RES39279]	1.00 Each		\$40.87	\$40.87
			<b>Total Parts</b>	\$414.56
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$579.24

Item ID	Description	Completed By	Reported Hours
71975	0500 Hour Service	Brittinni Lockard	4.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Change final drive oils.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

<b>Work Order:</b>	40339	<b>Status:</b>	Transferred
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Brittinni Lockard	<b>Start Date:</b>	3/8/2023
<b>Kms:</b>	N/A	<b>Stop Date:</b>	3/8/2023
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
LEVI LOOMIS	1.00 RT	Shop Mech Field	\$59.34	\$59.34
			<b>Total Labor</b>	<b>\$59.34</b>
MIRROR {20Y-54-74280} [AT497535SH]	1.00 Each		\$109.29	\$109.29
			<b>Total Parts</b>	<b>\$109.29</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$168.63</b>

Item ID	Description	Completed By	Reported Hours
71665	0250 Hour Service	Brittinni Lockard	1.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 40443  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 3/13/2023  
**Stop Date:** 3/13/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	12.00 RT	Shop Weld Field	\$55.71	\$668.52
JASON HOLLINGSWORTH	2.50 RT	Shop Mech Field	\$59.34	\$148.35
			<b>Total Labor</b>	<b>\$816.87</b>
SERPENTINE BELT 300GLC [R128210]	1.00 Each		\$220.93	\$220.93
			<b>Total Parts</b>	<b>\$220.93</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,037.80</b>

Item ID	Description	Completed By	Reported Hours
74701	5675 - CHECKOVER	Brittinni Lockard	14.50

**Work Order:** 43586  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** MAIN YARD  
**Created by:** Jarrett Hutzkal  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 6/21/2023  
**Stop Date:** 6/21/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JARRETT HUTZKAL	6.00 RT	Shop Mech Rky	\$49.05	\$294.30
			<b>Total Labor</b>	<b>\$294.30</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$294.30</b>

Item ID	Description	Completed By	Reported Hours
80221	5675 OES OUTGOING RENTAL INSPECTION	Brittinni Lockard	6.00

**Work Order:** 52431  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:**  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Transferred  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$0.00

Item ID	Description	Completed By	Reported Hours
92811	0250 Hour Service	Brittinni Lockard	0.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 52954  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Clayton Michelson  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 4/10/2024  
**Stop Date:** 4/10/2024

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
CLAYTON MICHELSON	16.00	RT Shop Weld Field	\$55.71	\$891.36
HERMANN KUKOWSKI	6.00	RT Shop Mech Field	\$59.34	\$356.04
LEVI LOOMIS	5.00	RT Shop Mech Field	\$59.34	\$296.70
MATTHEW GERVAIS	13.50	RT Shop Mech Field	\$59.34	\$801.09
			<b>Total Labor</b>	\$2,345.19
5-1/2" BOLT ON SPLIT ORING [AT349466]	2.00	Each	\$103.42	\$206.84
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00	Each	\$191.36	\$191.36
OIL CAP GASKET [R502902]	1.00	Each	\$15.73	\$15.73
SHIM [5450690066]	10.00	Each	\$7.15	\$71.54
SPACER (90X170X2) {90X180X23MM} [2077024210]	1.00	Each	\$38.23	\$38.23
			<b>Total Parts</b>	\$523.70
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$2,868.89

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

97252      5675 cutting corks off      Carla Merklin      40.50

<b>Work Order:</b>	53990	<b>Status:</b>	Closed
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Brittinni Lockard	<b>Start Date:</b>	5/16/2024
<b>Kms:</b>	N/A	<b>Stop Date:</b>	5/16/2024
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	5.00 RT	Shop Lube	\$41.17	\$205.85
TEVIN FERRIS	4.00 RT	Shop Mech Field	\$59.34	\$237.36
		<b>Total Labor</b>		<b>\$443.21</b>
FILTER AIR [FYA00001490SH]	1.00 Each		\$50.55	\$50.55
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each		\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each		\$41.50	\$41.50
FILTER CAB AIR {FLG: AF55754} [4S00686SH]	1.00 Each		\$81.93	\$81.93
FILTER CRANKCASE [RE553703]	1.00 Each		\$230.07	\$230.07
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00 Each		\$188.04	\$188.04
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each		\$71.59	\$71.59
FILTER HYDRAULIC {FLG: HF7679} [FYA00033065]	1.00 Each		\$160.13	\$160.13
FILTER LUBE {FLG: HF35516} [4630525]	1.00 Each		\$41.24	\$41.24
FILTER LUBE {FLG: LF16460} [RE539279]	1.00 Each		\$42.03	\$42.03
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00 Each		\$9.86	\$9.86
		<b>Total Parts</b>		<b>\$988.26</b>
		<b>Total Equip</b>		<b>\$0.00</b>
		<b>Total Cost</b>		<b>\$1,431.47</b>

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

98583      1000 Hour Service      Andrew Matus      9.00

- \* Change all filters.
- \* Change engine oil.
- \* Change swing drive oil.
- \* Change final drive oils.
- \* Change pump drive / damper case oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 54967  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittlnni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 6/13/2024  
**Stop Date:** 6/13/2024

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.50 RT	Shop Lube	\$41.17	\$267.61
			<b>Total Labor</b>	\$267.61
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$267.61

Item ID	Description	Completed By	Reported Hours
100412	0250 Hour Service	Anthony Rodriguez	6.50

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 56593  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 7/31/2024  
**Stop Date:** 7/31/2024

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
			<b>Total Labor</b>	\$164.68
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00	Each	\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00	Each	\$41.50	\$41.50
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00	Each	\$190.25	\$190.25
FILTER FUEL {FLG: FS20127} [AT365870]	1.00	Each	\$73.82	\$73.82
FILTER LUBE {FLG: LF16460} [RE539279]	1.00	Each	\$42.05	\$42.05
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00	Each	\$8.69	\$8.69
			<b>Total Parts</b>	\$427.62
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$592.30

Item ID	Description	Completed By	Reported Hours
102664	0500 Hour Service	Anthony Rodriguez	4.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Change final drive oils.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

<b>Work Order:</b>	57200	<b>Status:</b>	Closed
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Brittinni Lockard	<b>Start Date:</b>	
<b>Kms:</b>	N/A	<b>Stop Date:</b>	
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			<b>Total Labor</b>	\$296.70
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$296.70

Item ID	Description	Completed By	Reported Hours
104568	5675 - INSTALL NEW LH SIDE FRONT WINDOW	Carla Merklin	5.00

<b>Work Order:</b>	57474	<b>Status:</b>	Closed
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Sienna Campbell	<b>Start Date:</b>	
<b>Kms:</b>	N/A	<b>Stop Date:</b>	
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ADAM ANDRES	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			<b>Total Labor</b>	\$118.68
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$118.68

Item ID	Description	Completed By	Reported Hours
105059	5675- Incoming Inspection and repairs	Sienna Campbell	2.00

**Work Order:** 58580  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Adam Andre  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ADAM ANDRES	1.50 RT	Shop Mech Field	\$59.34	\$89.01
			<b>Total Labor</b>	\$89.01
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$89.01

Item ID	Description	Completed By	Reported Hours
107153	5675 4800hrs outgoing inspection and set up	Sienna Campbell	1.50

**Work Order:** 58581  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Adam Andre  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ADAM ANDRES	4.00 RT	Shop Mech Field	\$59.34	\$237.36
GEOFFREY SIMMELINK	3.50 RT	Shop Mech Field	\$59.34	\$207.69
			<b>Total Labor</b>	\$445.05
J350 FLARED TOOTH (8J3350, 1U3352) PADDLE [1073350]	5.00 Each		\$51.00	\$255.00
PIN (GOES WITH 1U3352WTL) [8E6358]	5.00 Each		\$3.77	\$18.86
RETAINER {XR 6Y9459, 6Y2527} [8E6359]	5.00 Each		\$3.65	\$18.23
TEMP CONTROL KNOB [FYA00026807]	1.00 Each		\$6.83	\$6.83
			<b>Total Parts</b>	\$298.93
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$743.98

Item ID	Description	Completed By	Reported Hours
107170	5675 outgoing inspection and repairs	Sienna Campbell	7.50

**Work Order:** 58791  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Adam Andre  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ADAM ANDRES	6.50	RT Shop Mech Field	\$59.34	\$385.71
			<b>Total Labor</b>	<b>\$385.71</b>
ESPAR HYDRONIC WATER PUMP 24V {252435992701, 252435270100} [252435992501]	1.00	Each	\$631.37	\$631.37
OIL CAP GASKET [R502902]	1.00	Each	\$15.73	\$15.73
TOOTH TWIN TIGER {GETJ350TT, FC350WTS} [1U3352WTL]	4.00	Each	\$37.16	\$148.62
TOOTH TWIN TIGER {GETJ350TT, FC350WTS} [1U3352WTL]	4.00	Each	\$37.16	\$148.62
			<b>Total Parts</b>	<b>\$944.34</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,330.05</b>

Item ID	Description	Completed By	Reported Hours
107454	5675 4800hrs outgoing repairs and thumb	Sienna Campbell	6.50

**Work Order:** 58743  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittlini Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00	RT Shop Lube	\$41.17	\$41.17
			<b>Total Labor</b>	<b>\$41.17</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$41.17</b>

Item ID	Description	Completed By	Reported Hours
105836	0250 Hour Service	Carla Merklin	1.00

- \* Sample engine oil.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 59548  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
MATTHEW GERVAIS	15.50 RT	Shop Mech Field	\$59.34	\$919.77
			<b>Total Labor</b>	\$919.77
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$919.77

Item ID	Description	Completed By	Reported Hours
108855	5675 - CHECK OVER	Carla Merklin	15.50

**Work Order:** 61455  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 11/29/2024  
**Stop Date:** 11/29/2024

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.50 RT	Shop Lube	\$41.17	\$267.61
			<b>Total Labor</b>	\$267.61
FILTER AIR [FYA00001490SH]	1.00 Each		\$50.60	\$50.60
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00 Each		\$71.31	\$71.31
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00 Each		\$41.50	\$41.50
FILTER CAB AIR {FLG: AF55754} [4S00686SH]	1.00 Each		\$105.70	\$105.70
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00 Each		\$191.19	\$191.19
FILTER FUEL {FLG: FS20127} [AT365870]	1.00 Each		\$73.90	\$73.90
FILTER HYDRAULIC {FLG: HF7679} [FYA00033065]	1.00 Each		\$115.06	\$115.06
FILTER LUBE {FLG: HF35516} [4630525]	1.00 Each		\$43.35	\$43.35
FILTER LUBE {FLG: LF16460} [RE539279]	1.00 Each		\$46.25	\$46.25
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00 Each		\$8.55	\$8.55
			<b>Total Parts</b>	\$747.41
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$1,015.02

Item ID	Description	Completed By	Reported Hours
110345	5000 Hour Service	Anthony Rodriguez	6.50

- \* Change all filters.
- \* Change engine oil.
- \* Change swing drive oil.
- \* Change final drive oils.
- \* Change pump drive / damper case oil.
- \* Change hydraulic oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

<b>Work Order:</b>	61669	<b>Status:</b>	Transferred
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>		<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Brittinni Lockard	<b>Start Date:</b>	
<b>Kms:</b>	N/A	<b>Stop Date:</b>	
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$0.00

Item ID	Description	Completed By	Reported Hours
112824	5675 - BRANDT DIAG AND REPAIR HYD LEAK	Brittinni Lockard	0.00

<b>Work Order:</b>	62442	<b>Status:</b>	Closed
<b>Equipment:</b>	300G-LC JD EXCAVATOR [5675]	<b>Serial Number:</b>	1FF300GXALF731578
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Carla Merklin	<b>Start Date:</b>	
<b>Kms:</b>	N/A	<b>Stop Date:</b>	
<b>Hr:</b>	5656		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	5.00	RT Shop Mech Field	\$59.34	\$296.70
			<b>Total Labor</b>	\$296.70
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$296.70

Item ID	Description	Completed By	Reported Hours
114286	5675 - CHECK OVER/FLIP EDGE/FIX HYD LEAKS	Carla Merklin	5.00

**Work Order:** 65592  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 4/3/2025  
**Stop Date:** 4/7/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
KALE HEMPHILL	1.00 RT	Shop Mech Field	\$59.34	\$59.34
			<b>Total Labor</b>	\$59.34
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$59.34

Item ID	Description	Completed By	Reported Hours
120086	5675 - CHECK OVER	Kale Hemphill	1.00
120258	5675 checkover	Kale Hemphill	0.00

**Work Order:** 66624  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 4/30/2025  
**Stop Date:** 4/30/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
GEOFFREY SIMMELINK	6.00 RT	Shop Mech Field	\$59.34	\$356.04
JOHN GIBERSON	14.50 RT	Shop Mech Rky	\$49.05	\$711.23
MATTHEW GERVAIS	19.50 RT	Shop Mech Field	\$59.34	\$1,157.13
			<b>Total Labor</b>	<b>\$2,224.40</b>
5-1/2" BOLT ON SPLIT ORING [AT349466]	2.00 Each		\$118.69	\$237.39
BUSHING [4355875]	4.00 Each		\$179.73	\$718.92
BUSHING [4381983]	2.00 Each		\$131.14	\$262.28
BUSHING [4443883]	2.00 Each		\$242.44	\$484.88
BUSHING {FF556678} [4443880]	2.00 Each		\$110.23	\$220.46
BUSHING CY [4397791]	6.00 Each		\$209.93	\$1,259.58
DEF DOOR HANDLE [FYA00031215]	2.00 Each		\$25.43	\$50.86
J350 PENETRATION PLUS BUCKET TOOTH [1681359]	4.00 Each		\$48.16	\$192.64
PAD BOLT 22MX65M JD 350G,290G [3081343ITR]	4.00 Each		\$2.37	\$9.48
PAD NUT 22M JD 350G,290G [79035320]	4.00 Each		\$1.22	\$4.89
PIN [9J2358]	4.00 Each		\$2.61	\$10.44
PIN FAST CY [3090167]	1.00 Each		\$698.78	\$698.78
RETAINER {XR 6Y9459, 6Y2527} [8E6359]	4.00 Each		\$3.76	\$15.04
SEAL [TH102445]	4.00 Each		\$45.19	\$180.76
SEAL [TH102445]	6.00 Each		\$44.42	\$266.49
SEAL {4074008} [TH102411]	4.00 Each		\$29.78	\$119.14
TEMP CONTROL KNOB [FYA00026807]	3.00 Each		\$10.97	\$32.91
THUMB BUSHINGS [200797]	2.00 Each		\$273.58	\$547.16
TRACK PAD [KM2118800]	1.00 Each		\$147.82	\$147.82
			<b>Total Parts</b>	<b>\$5,459.93</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$7,684.32</b>

Item ID	Description	Completed By	Reported Hours
121876	5675 - OES CENTERFIRE OUTGOING ONT	Brittinni Lockard	40.00

**Work Order:** 66681  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 5/1/2025  
**Stop Date:** 5/1/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00	RT Shop Lube	\$41.17	\$41.17
STEVEN MICKLEBORO	3.00	RT Shop Lube	\$41.17	\$123.51
<b>Total Labor</b>				<b>\$164.68</b>
FILTER AIR {FLG: AF26124, JD: AT330978, BAL: RS5429} [P617643]	1.00	Each	\$78.67	\$78.67
FILTER AIR {FLG: AF26125, JD: AT330980, BAL: RS5430} [P617644]	1.00	Each	\$45.83	\$45.83
FILTER FUEL {BAL: BF7929KIT} [RE556406]	1.00	Each	\$201.43	\$201.43
FILTER FUEL {FLG: FS20127} [AT365870]	1.00	Each	\$81.81	\$81.81
FILTER LUBE {FLG: LF16460} [RE539279]	1.00	Each	\$49.22	\$49.22
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00	Each	\$9.11	\$9.11
<b>Total Parts</b>				<b>\$466.07</b>
<b>Total Equip</b>				<b>\$0.00</b>
<b>Total Cost</b>				<b>\$630.75</b>

**Notes:** Centerfire ON service completed early

Item ID	Description	Completed By	Reported Hours
122024	0500 Hour Service	Carla Merklin	3.00
	<ul style="list-style-type: none"> <li>* Change engine oil.</li> <li>* Change engine filters -- oil and air.</li> <li>* Change fuel filters.</li> <li>* Change final drive oils.</li> <li>* Check all fluids.</li> <li>* Complete grease.</li> <li>* Sample all oils.</li> </ul>		
122025	0250 Hour Service	Anthony Rodriguez	1.00
	<ul style="list-style-type: none"> <li>* Sample engine oil.</li> <li>* Check all fluids.</li> <li>* Complete grease.</li> </ul>		

**Work Order:** 74428  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:**  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$0.00

Item ID	Description	Completed By	Reported Hours
125854	0250 Hour Service	Carla Merklin	0.00

- \* Sample engine oil.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 79814  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:** Current Equipment Location  
**Created by:** Randy Wearmouth  
**Kms:** N/A  
**Hr:** 5656

**Status:** Scheduled  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:** 2/6/2026  
**Stop Date:** 2/6/2026

Item ID	Description	Completed By	Reported Hours
144494	5675 - CHECK OVER		61.25

**Work Order:** 80247  
**Equipment:** 300G-LC JD EXCAVATOR [5675]  
**Work Location:**  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** 5656

**Status:** Closed  
**Serial Number:** 1FF300GXALF731578  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$0.00

Item ID	Description	Completed By	Reported Hours
145188	0500 Hour Service	Carla Merklin	0.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Change final drive oils.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.